Tableaux des Puissances de Dix (F)

Divisez le nombre de la rangée par celui de la colonne.

100 1000 0,0001 10

91

37

21

25

13

10 1000 0,01 0,0001

25

89

65

42

0,001 0,1 0,01 10 000

11

93

59

71

57

10 10 000 100 0,001

79

13

59

49

41
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Tableaux des Puissances de Dix (F) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 100 1000 0,0001 10
91 0,91 0,091 910 000 9,1
37 0,37 0,037 370 000 3,7
21 0,21 0,021 210000 2,1
25 0,25 0,025 250000 2,5
13 0,13 0,013 130 000 1,3

+ 10 1000 0,01 0,0001
25 2,5 0,025 2500 250000
89 8,9 0,089 8900 890 000
4 0,4 0,004 400 40 000
65 6,5 0,065 6 500 650 000
42 4,2 0,042 4 200 420 000
+ 0,001 0,1 0,01 10 000
11 11000 110 1100 0,0011
93 93 000 930 9300 0,0093
59 59 000 590 5900 0,0059
71 71000 710 7100 0,0071
57 57 000 570 5700 0,0057
+ 10 10 000 100 0,001
79 7,9 0,0079 0,79 79 000
13 1,3 0,0013 0,13 13000
59 5,9 0,0059 0,59 59 000
49 4,9 0,0049 0,49 49 000
41 4,1 0,0041 0,41 41 000
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